H & 0l & AHS B Ml A

A SIS
M 0 HABSX(ZE1S)
&helr =0 msd (SH9 H2)
SA -3 - A(3) - MISA - B85 Oi &F2H N3 Hws2
gds1s 357,058 340,618 16,440
=0 HBX(PS1S) 247,918 232,918 15,000
=0l Ho s 247,918 232,918 15,000
=g Ho s 247,918 232,918 15,000
405 KHAHF S 15,000 0 15,000
01 ML ESHSHI 15,000 0 15,000
O=FUIdH HIE & 28 7 15,000 0 15,000
HHYRAHH(IS1S) 109, 140 107,700 1,440
=&l 109, 140 107,700 1,440
JlE2&l 109, 140 107,700 1,440
202 04| 30,240 28,800 1,440
01 204l 5,760 4,320 1,440
ORlAgRFa 5,760 4,320 1,440
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